Efficiency vs dr

0.5
0.45

efficiency vs AR
=}
D

©
O w
w

0.25
0.2

0.15H
0.15

0.05H

o OF

< 12 || —— DQM_CKF_XiMinusNOPU_base

o 1:__ —— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch3
107 1072 10"

1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.5
0 0.45
c
x
z 0.4
£0.35
)
c 0.3
<]
o
EO'25
()
0.2
0.15
0.1
0.05]
o+
I
o
il

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

-0.05
o

9.045
20.04
(]

®.035
= : : : : : :
R B St A S (A
0.025[ -5 -eefrivmeemdneeessbunnnidenn
0.02F
0.015F
0.01F-
0.005E-

1pbp

Ratio

1.1

1

O[T

0.%




	Contents
	Page 1


